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Q=1039510000
P = 510510n + 103951

2P 4+ 1 =2(510510n + 103951) + 1 = 10210201 + 207902 + 1 = 10210207 + 207903
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207903 = 3 x 37 x 1873 x 1
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Q=1039630000
P = 510510n + 103963

2P 4+ 1 =2(510510n + 103963) + 1 = 10210201 + 207926 + 1 = 1021020n + 207927
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2P + 1 = 51(20020n + 4077)
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Q=103967 0000
P = 5105101 + 103967

2P + 1 = 2(510510n + 103967) 4+ 1 = 10210201 4 207934 + 1 = 10210201 + 207935
0000010210200 20 2003,5,7,11,13,17000000 10000000

207935 =5 x 7T x 13 x 457 x 1

oooo
2P + 1 = 455(2244n + 457)
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Q=103969 0000
P = 5105101 + 103969

2P + 1 = 2(510510n 4 103969) + 1 = 1021020n + 207938 + 1 = 1021020n + 207939
0000010210200 20 2003,5,7,11,13,17000000 10000000

207939 =3 x 69313 x 1

oooo
2P + 1 = 3(340340n + 69313)
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Q=1039730000
P = 510510n + 103973

2P + 1 =2(510510n + 103973) + 1 = 10210201 + 207946 + 1 = 1021020n + 207947

0000010210200 20 2003,5,7,11,13,17000000 1000000

207947 = 207947 x 1

oooo 10210200 000000000000

2P +1 =510510m + 207947
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Q=1039790000
P = 5105100 + 103979

2P + 1 = 2(510510n + 103979) 4+ 1 = 10210201 4+ 207958 + 1 = 10210201 4+ 207959
0000010210200 20 2003,5,7,11,13,17000000 1000000

207959 =29 x 71 x 101 x 1
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2P 4+ 1 = 510510m + 207959
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Q=103981 0000
P = 5105101 + 103981

2P + 1 = 2(510510n + 103981) 4+ 1 = 10210201 + 207962 + 1 = 10210201 + 207963
0000010210200 20 2003,5,7,11,13,17000000 10000000

207963 =3 x 3 x 7x 3301 x 1
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2P + 1 = 21(48620n + 9903)
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Q=103991 0000
P = 510510n + 103991

2P + 1 = 2(510510n + 103991) 4 1 = 10210201 4 207982 + 1 = 10210201 + 207983
0000010210200 20 2003,5,7,11,13,17000000 1000000
207983 = 241 x 863 x 1
0000 10210200000000000000
2P + 1 = 510510m + 207983
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Q=1039930000
P = 510510n + 103993

2P 4+ 1 =2(510510n + 103993) + 1 = 10210201 + 207986 + 1 = 1021020n + 207987
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207987 =3 x 13 x 5333 x 1

good
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good

Q=1039970000
P = 510510n + 103997

2P + 1 = 2(510510n + 103997) 4+ 1 = 10210201 4 207994 + 1 = 10210201 + 207995
0000010210200 20 2003,5,7,11,13,17000000 10000000

207995 =5 x 17 x 2447 x 1
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2P + 1 = 85(12012n + 2447)
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Q=1040030000
P = 510510n + 104003

2P + 1 = 2(510510n + 104003) 4+ 1 = 10210201 4+ 208006 + 1 = 10210201 + 208007
0000010210200 20 2003,5,7,11,13,17000000 1000000

208007 = 79 x 2633 x 1
Ooooo 10210200 000000000000
2P + 1 = 510510m + 208007
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Q=1040090000
P = 510510n + 104009

2P 4+ 1 =2(510510n + 104009) + 1 = 1021020n + 208018 + 1 = 10210207 + 208019
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208019 =7 x 29717 x 1
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2P + 1 = 7(145860n + 29717)
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Q=1040110000
P =510510n + 104011

2P + 1 =2(510510n + 104011) 4+ 1 = 10210201 + 208022 + 1 = 1021020n + 208023

0000010210200 20 2003,5,7,11,13,17000000 10000000

208023 = 3 x 69341 x 1
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2P + 1 = 3(340340n + 69341)
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Q=1040170000
P = 5105101 + 104017

2P 4+ 1 =2(510510n + 104017) 4+ 1 = 10210207 + 208034 + 1 = 10210201 + 208035

0000010210200 20 2003,5,7,11,13,17000000 10000000

208035 =3 x3x3x5Hx23x67x1
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2P + 1 = 15(68068n + 13869)
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Q=104021 0000
P = 510510n + 104021

2P + 1 = 2(510510n + 104021) 4 1 = 10210201 + 208042 + 1 = 10210201 + 208043
0000010210200 20 2003,5,7,11,13,17000000 10000000

208043 =11 x 18913 x 1

oooo
2P + 1 =11(92820n + 18913)
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101



2P + 1 =2(510510n + 104029) + 1 = 1021020n + 208058 + 1 = 1021020n + 208059
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Q=1040330000
P = 510510n + 104033

2P + 1 = 2(510510n + 104033) + 1 = 10210201 + 208066 + 1 = 10210201 + 208067
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2P +1 = 510510m + 208067
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2P + 1 = 2(510510n + 104047) 4+ 1 = 10210201 4 208094 + 1 = 10210201 + 208095
0000010210200 20 2003,5,7,11,13,17000000 10000000

208095 =3 x 5 x 13873 x 1
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2P + 1 = 15(68068n + 13873)

oooooooolibooooboooooboboooboobooboobooooobOoobOoo
good

Q=1040510000
P = 510510n + 104051

2P 4+ 1 =2(510510n + 104051) + 1 = 1021020n + 208102 + 1 = 10210207 + 208103
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Q=1040530000
P = 510510n + 104053

2P 4+ 1 = 2(510510n + 104053) + 1 = 10210200 + 208106 + 1 = 1021020n + 208107
0000010210200 20 2003,5,7,11,13,17000000 10000000

208107 =3 x 3 x 19 x 1217 x 1

good
2P + 1 = 3(340340n + 69369)
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Q=1040590000
P = 510510n + 104059

2P + 1 = 2(510510n + 104059) 4 1 = 10210201 + 208118 + 1 = 10210201 + 208119
0000010210200 20 2003,5,7,11,13,17000000 10000000

208119 =3 x 173 x 401 x 1

oooOo
2P + 1 = 3(340340n + 69373)
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P = 510510n + 104063

2P + 1 =2(510510n + 104063) + 1 = 1021020n + 208126 + 1 = 1021020n + 208127
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Q=1040770000
P = 510510n + 104077

2P + 1 = 2(510510n + 104077) 4+ 1 = 10210201 4 208154 + 1 = 10210200 + 208155
0000010210200 20 2003,5,7,11,13,17000000 10000000

208155 =3 x 5 x 13877 x 1
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2P + 1 = 15(68068n + 13877)
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Q=1040810000
P = 510510n + 104081

2P + 1 = 2(510510n + 104081) 4+ 1 = 10210201 + 208162 + 1 = 10210201 + 208163
0000010210200 20 2003,5,7,11,13,17000000 1000000

208163 =43 x 47 x 103 x 1
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2P +1 = 510510m + 208163
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Q=104087 0000
P = 5105101 + 104087

2P + 1 =2(510510n + 104087) + 1 = 1021020n + 208174 + 1 = 1021020n + 208175
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208175 =5 x5 x 11 x 757 x 1
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Q=104089 0000
P = 510510 + 104089

2P 4+ 1 =2(510510n + 104089) + 1 = 1021020n + 208178 + 1 = 10210201 + 208179
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booboooo3obobobooooobobooooboboboobDobooobUobOobooo
goo

Q=104099 0000
P = 5105100 + 104099

2P + 1 = 2(510510n + 104099) 4 1 = 10210201 + 208198 + 1 = 10210201 + 208199
0000010210200 20 2003,5,7,11,13,17000000 10000000

208199 =17 x 37 x 331 x 1

oooo
2P + 1 = 17(60060n + 12247)
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good

Q=104101 0000
P =510510n + 104101

2P 4+ 1 =2(510510n + 104101) 4+ 1 = 10210201 + 208202 + 1 = 10210207 + 208203
ooo000o10210200 20 2003,5,7,11,13,17000000 10000000

208203 = 3 x 69401 x 1

oooo
2P + 1 = 3(340340n + 69401)
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Q=1041070000
P = 5105100 + 104107

2P 4+ 1 =2(510510n + 104107) + 1 = 1021020n + 208214 + 1 = 1021020n + 208215

0000010210200 20 2003,5,7,11,13,17000000 10000000

208215 =3 x3 x5 x7x661 x1

oooo
2P + 1 =105(9724n + 1983)
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Q=1041130000
P =510510n + 104113

2P + 1 =2(510510n + 104113) + 1 = 10210201 + 208226 + 1 = 1021020n + 208227

0000010210200 20 2003,5,7,11,13,17000000 10000000

208227 =3 x 31 x 2239 x 1

good
2P + 1 = 3(340340n + 69409)
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Q=1041190000
P = 5105101 + 104119

2P 4+ 1 =2(510510n + 104119) + 1 = 10210201 + 208238 + 1 = 10210201 + 208239

0000010210200 20 2003,5,7,11,13,17000000 10000000

208239 = 3 x 41 x 1693 x 1

oooo
2P + 1 = 3(340340n + 69413)
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Q=1041230000
P =510510n + 104123

2P + 1 = 2(510510n + 104123) + 1 = 10210201 + 208246 + 1 = 10210201 + 208247
0000010210200 20 2003,5,7,11,13,17000000 10000000

208247 =13 x 83 x 193 x 1

oooo
2P + 1 = 13(78540n + 16019)
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Q=1041290000
P = 510510n + 104129
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2P + 1 =2(510510n + 104129) + 1 = 1021020n + 208258 + 1 = 1021020n + 208259
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208259 =19 x 97 x 113 x 1
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2P 4+ 1 = 510510m + 208259
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Q=1041310000
P = 510510n + 104131

2P + 1 = 2(510510n + 104131) 4+ 1 = 10210201 4 208262 + 1 = 10210201 + 208263
0000010210200 20 2003,5,7,11,13,17000000 10000000

208263 =3 x 11 x 6311 x 1

oooo
2P + 1 = 33(30940n + 6311)
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good

Q=1041410000
P =510510n + 104141

2P + 1 = 2(510510n + 104141) 4+ 1 = 10210201 + 208282 + 1 = 10210201 + 208283
0000010210200 20 2003,5,7,11,13,17000000 1000000
208283 = 208283 x 1
0000 10210200000000000000
2P + 1 = 510510m + 208283
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Q=1041470000
P = 5105101 + 104147

2P + 1 =2(510510n + 104147) + 1 = 1021020n + 208294 + 1 = 10210201 + 208295

0000010210200 20 2003,5,7,11,13,17000000 10000000

208295 =5 x 41659 x 1
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Q=1041490000
P =510510n + 104149

2P 4+ 1 = 2(510510n + 104149) + 1 = 10210201 4 208298 + 1 = 1021020n + 208299
0000010210200 20 2003,5,7,11,13,17000000 10000000

208299 =3 x 7T x 7x 13 x 109 x 1
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2P + 1 = 273(3740n + 763)
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Q=1041610000
P =510510n + 104161

2P + 1 = 2(510510n + 104161) 4+ 1 = 10210201 + 208322 + 1 = 10210201 + 208323
0000010210200 20 2003,5,7,11,13,17000000 10000000

208323 =3 x 3 x 79 x293 x 1
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2P + 1 = 3(340340n + 69441)
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Q=1041710000
P =510510n + 104171

2P +1=2(510510n + 104171) + 1 = 1021020n + 208342 + 1 = 1021020n + 208343

oo0o0o00o10210200 20 2003,5,7,11,13,17000000 1000000

208343 =53 x 3931 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 208343
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P = 510510n + 104173

2P + 1 =2(510510n + 104173) + 1 = 10210201 + 208346 + 1 = 1021020n + 208347

0000010210200 20 2003,5,7,11,13,17000000 10000000

208347 =3 x 37 x 1877 x 1

oooo
2P + 1 = 3(340340n + 69449)
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Q=1041770000
P = 5105101 + 104177

2P + 1 =2(510510n + 104177) + 1 = 1021020n + 208354 + 1 = 1021020n + 208355

0000010210200 20 2003,5,7,11,13,17000000 10000000

208355 =5 x 7 x 5953 x 1

oooo
2P +1 = 35(29172n + 5953)
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Q=1041790000
P = 5105100 + 104179

2P 4+ 1 =2(510510n + 104179) + 1 = 10210201 + 208358 + 1 = 10210207 + 208359

0000010210200 20 2003,5,7,11,13,17000000 10000000

208359 =3 x 3 x 3 x 7717 x 1
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2P + 1 = 3(340340n + 69453)
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2P + 1 =2(510510n + 104183) + 1 = 10210201 + 208366 + 1 = 1021020n + 208367
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Q=104189 0000
P =510510n + 104189

2P + 1 = 2(510510n + 104189) 4 1 = 10210201 + 208378 + 1 = 10210201 + 208379
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208379 = 208379 x 1
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Q=1041910000
P = 510510n + 104191

2P + 1 = 2(510510n + 104191) 4+ 1 = 10210201 + 208382 + 1 = 10210201 + 208383
0000010210200 20 2003,5,7,11,13,17000000 10000000

208383 =3 x 7x9923 x 1

oooo
2P + 1 = 21(48620n + 9923)
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Q=1041970000
P = 510510n + 104197

2P + 1 =2(510510n + 104197) 4+ 1 = 1021020n + 208394 + 1 = 10210201 + 208395

0000010210200 20 2003,5,7,11,13,17000000 10000000

208395 =3 x3 x5 x11 x421 x1

oooo
2P + 1 = 165(6188n + 1263)
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Q=104201 0000
P =510510n + 104201

2P + 1 = 2(510510n + 104201) 4 1 = 10210201 4 208402 + 1 = 10210201 + 208403
0000010210200 20 2003,5,7,11,13,17000000 10000000

208403 =13 x 17 x 23 x 41 x 1
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2P + 1 = 221(4620n + 943)
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Q=1042070000
P = 510510n + 104207

2P 4+ 1 = 2(510510n + 104207) + 1 = 10210200 + 208414 + 1 = 10210200 + 208415
0000010210200 20 2003,5,7,11,13,17000000 10000000

208415 =5 x 73 x 571 x 1
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2P + 1 = 5(204204n + 41683)
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Q=1042130000
P =510510n + 104213

2P + 1 = 2(510510n + 104213) + 1 = 10210201 + 208426 + 1 = 10210200 + 208427
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208427 = 257 x 811 x 1
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2P + 1 = 510510m + 208427
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Q=1042330000
P = 510510n + 104233

2P + 1 = 2(510510n + 104233) 4+ 1 = 10210201 4 208466 + 1 = 10210201 + 208467
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208467 =3 x 3 x 3 x 7 x 1103 x 1
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2P + 1 = 21(48620n + 9927)
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Q=1042390000
P =510510n + 104239

2P + 1 =2(510510n + 104239) + 1 = 10210201 + 208478 + 1 = 10210201 + 208479
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208479 = 3 x 69493 x 1
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Q=1042430000
P =510510n + 104243
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208487 =19 x 10973 x 1
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2P +1 = 510510m + 208487
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Q=1042490000
P =510510n + 104249

2P + 1 = 2(510510n + 104249) 4 1 = 10210201 + 208498 + 1 = 10210201 + 208499
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208499 = 208499 x 1
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Q=1042570000
P = 5105100 + 104257

2P 4+ 1 =2(510510n + 104257) + 1 = 1021020n + 208514 + 1 = 10210201 + 208515
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oooo
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Q=1076470000
P = 5105101 + 107647

2P + 1 = 2(510510n + 107647) + 1 = 10210201 + 215294 + 1 = 10210201 + 215295
0000010210200 20 2003,5,7,11,13,17000000 10000000

215295 =3 x5 x 31 x 463 x 1

oooo
2P + 1 = 15(68068n + 14353)

obooooooliboooboooooobobooobooobOoobooboboooobOoobOoo
googd

Q=1076510000
P = 5105100 + 107651
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2P + 1 =2(510510n + 107651) + 1 = 1021020n + 215302 + 1 = 1021020n + 215303

0000010210200 20 2003,5,7,11,13,17000000 10000000

215303 =11 x 23 x 23 x 37 x 1

oooo
2P + 1 = 11(92820n + 19573)

gboooooonoooooboooooobobooobooboobooboboooobOobobOoo
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Q=107659 0000
P = 510510n + 107659

2P + 1 = 2(510510n + 107659) + 1 = 10210201 + 215318 + 1 = 10210201 + 215319
0000010210200 20 2003,5,7,11,13,17000000 10000000

215319 =3 x 13 x 5521 x 1

oooo
2P + 1 = 39(26180n + 5521)

000o000o0oo3YoooooooooboooobooobOo0oboobobDoooDbOooDbOon
good

Q=1076630000
P = 510510n + 107663

2P + 1 = 2(510510n + 107663) 4+ 1 = 10210201 4 215326 + 1 = 10210200 + 215327
0000010210200 20 2003,5,7,11,13,17000000 10000000

215327 =7 x 19 x 1619 x 1

oooo
2P + 1 = 7(145860n + 30761)

gooooooOovyoUoooOoOooOobOOoU0OOoU0bDOUDOoUobDOoUbDOUDbDOOobDOUODOO
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Q=107669 0000
P = 510510n + 107669

2P 4+ 1 =2(510510n + 107669) + 1 = 1021020n + 215338 + 1 = 10210201 + 215339

0000010210200 20 2003,5,7,11,13,17000000 10000000

215339 =17 x 53 x 239 x 1
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2P + 1 = 17(60060n + 12667)
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Q=1076710000
P = 510510n + 107671

2P + 1 = 2(510510n + 107671) + 1 = 10210200 + 215342 + 1 = 1021020n + 215343
0000010210200 20 2003,5,7,11,13,17000000 10000000

215343 =3 x 3 x 71l x 337 x 1

0ooo
2P + 1 = 3(340340n + 71781)

o00obOobooo30b0obooooooboobooOoOobOobobDobDOobooobOobOobDOoo
goo

Q=1076770000
P = 510510n + 107677

2P + 1 = 2(510510n + 107677) + 1 = 10210201 + 215354 + 1 = 10210201 + 215355
0000010210200 20 2003,5,7,11,13,17000000 10000000

215355 =3 X H X T7TxT7x293 x1

oooo
2P + 1 = 105(9724n + 2051)

oboobobgoobolesoboobooooobooboboboooobooobOobUobobpDoooooo
good

Q=1076830000
P = 510510n + 107683

2P + 1 =2(510510n + 107683) + 1 = 10210201 + 215366 + 1 = 1021020n + 215367

oo000010210200 20 2003,5,7,11,13,17000000 10000000

215367 =3 x 71789 x 1

good
2P + 1 = 3(340340n + 71789)

gooooooOo3sooboooooooboU0OoOoU0bOoUDbDOoUobOoUobDbOUDbDOoOobDOoUODoOO
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Q=1076870000
P = 510510n + 107687

2P + 1 = 2(510510n + 107687) 4+ 1 = 10210201 4 215374 + 1 = 10210200 + 215375
0000010210200 20 2003,5,7,11,13,17000000 10000000

215375 =5 x5 x5 x 1723 x 1

oooo
2P + 1 = 5(204204n + 43075)

gboobobooosOobobobooboboobOoboboobobOobUobDOobDobobOoOobOobDOobDOoo
goo

Q=107689 0000
P = 510510n + 107689

2P + 1 = 2(510510n + 107689) + 1 = 10210201 + 215378 + 1 = 10210201 + 215379
0000010210200 20 2003,5,7,11,13,17000000 10000000

215379 =3 x 3 x I x 3 x 2659 x 1

good
2P + 1 = 3(340340n + 71793)

goobobooo3oboboooooobobOooOoOobo0obUobDobDOobOoobOobOobDOoo
goo

Q=1076930000
P = 510510n + 107693

2P + 1 = 2(510510n + 107693) 4+ 1 = 10210201 4 215386 + 1 = 10210200 + 215387
0000010210200 20 2003,5,7,11,13,17000000 1000000
215387 = 43 x 5009 x 1
0000 10210200000000000000
2P + 1 = 510510m + 215387

gbobogobooobooboboobboobbooobuooooboon

Q=107699 0000
P = 510510n + 107699

2P 4+ 1 =2(510510n + 107699) + 1 = 1021020n + 215398 + 1 = 10210201 + 215399
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215399 = 215399 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 215399
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Q=1077070000
P = 510510n + 107707

2P + 1 = 2(510510n + 107707) 4+ 1 = 10210201 + 215414 + 1 = 10210200 + 215415
0000010210200 20 2003,5,7,11,13,17000000 10000000

215415 =3 x 3 x5 x 4787 x 1

oooo
2P + 1 = 15(68068n + 14361)

oboobooooliboooboboooooboboooboooboobooboboooobOoobOoo
good

Q=1077110000
P =510510n + 107711

2P +1 = 2(510510n + 107711) 4+ 1 = 10210201 4 215422 + 1 = 10210201 + 215423
0000010210200 20 2003,5,7,11,13,17000000 10000000

215423 =13 x T3 x 227 x 1

oooo
2P 4 1 = 13(78540n + 16571)

gooooobo0oyooooooobOobooooooooOoDoobDOooDOobDOobooobOooo
good

Q=1077130000
P = 510510n + 107713

2P + 1 =2(510510n + 107713) + 1 = 10210201 + 215426 + 1 = 1021020n + 215427

0000010210200 20 2003,5,7,11,13,17000000 10000000

215427 =3 x 71809 x 1

oooo
2P + 1 = 3(340340n + 71809)
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Q=1077170000
P = 510510n + 107717

2P + 1 = 2(510510n + 107717) 4+ 1 = 10210201 4 215434 + 1 = 10210200 + 215435
0000010210200 20 2003,5,7,11,13,17000000 10000000

215435 =5 x 11 x 3917 x 1

oooo
2P + 1 = 55(18564n + 3917)
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Q=1077190000
P =510510n + 107719

2P 4+ 1 = 2(510510n + 107719) 4+ 1 = 10210201 4 215438 + 1 = 1021020n + 215439
0000010210200 20 2003,5,7,11,13,17000000 10000000

215439 =3 x 7 x 10259 x 1

oooo
2P + 1 = 21(48620n + 10259)

oboobooobo21000obobo0o0oooboboooboobo0obooboboooobOoobOoo
good

Q=1077410000
P = 510510n + 107741

2P + 1 = 2(510510n + 107741) 4+ 1 = 10210201 + 215482 + 1 = 10210201 + 215483
0000010210200 20 2003,5,7,11,13,17000000 1000000
215483 = 215483 x 1
0000 10210200000000000000
2P + 1 = 510510m + 215483
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Q=1077430000
P = 510510n + 107743

2P 4+ 1 =2(510510n + 107743) + 1 = 10210201 + 215486 + 1 = 1021020n + 215487

295



0000010210200 20 2003,5,7,11,13,17000000 10000000

215487 =3 x 3 X3 x 23 x 347 x 1

oooo
2P + 1 = 3(340340n + 71829)
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Q=1077470000
P = 5105100 + 107747

2P + 1 = 2(510510n + 107747) 4+ 1 = 10210201 4 215494 + 1 = 10210200 + 215495
0000010210200 20 2003,5,7,11,13,17000000 10000000

215495 =5 x 7Tx 47 x 131 x 1

oooo
2P + 1 =35(29172n + 6157)
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good

Q=1077490000
P =510510n + 107749

2P + 1 = 2(510510n 4 107749) + 1 = 1021020n + 215498 + 1 = 1021020n + 215499
0000010210200 20 2003,5,7,11,13,17000000 10000000

215499 =3 x 29 x 2477 x 1

oooo
2P + 1 = 3(340340n + 71833)
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goo

Q=1077530000
P = 510510n + 107753

2P + 1 =2(510510n + 107753) + 1 = 10210201 + 215506 + 1 = 1021020n 4 215507

0000010210200 20 2003,5,7,11,13,17000000 1000000

215507 = 215507 x 1

oooo 10210200 000000000000

2P 4+ 1 = 510510m + 215507
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Q=1077590000
P = 510510n + 107759

2P + 1 = 2(510510n + 107759) 4+ 1 = 10210201 + 215518 4+ 1 = 10210201 + 215519
0000010210200 20 2003,5,7,11,13,17000000 1000000

215519 =127 x 1697 x 1

o000 10210200 000000000000

2P +1 =510510m + 215519
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Q=1077610000
P = 510510n + 107761

2P + 1 = 2(510510n + 107761) 4+ 1 = 10210201 + 215522 + 1 = 10210201 + 215523
0000010210200 20 2003,5,7,11,13,17000000 10000000

215523 =3 x 3 x 7Tx11 x 311 x 1

oooo
2P + 1 = 231(4420n + 933)

g0obOobOoo23lo0ooooo0oo0obo0obooooobooobOobUobOobDOoDOobooo
good

Q=1077710000
P = 510510n + 107771

2P 4+ 1 =2(510510n + 107771) + 1 = 10210201 + 215542 + 1 = 1021020n + 215543

0000010210200 20 2003,5,7,11,13,17000000 10000000

215543 =17 x 31 x 409 x 1

oooo
2P + 1 = 17(60060n + 12679)

goooooboOowvooooOooOobOobOobooOooOUooOOoDOobDOoOoDOobDOoboOooboOooo
googo
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